EXERCISES 6.5 = PAGE 445
L 3§ sg-€¥) T 2/(57)
9. (a1 (24 (©

15. 385 17. (50 + 28/m)°F = 59°F

19. 6 kg/m
21. 5/(4m) = 04L
CHAPTER 6 REVIEW = PAGE 446
Exercises
Lt 3% Ssi+d4/m T 64m/15 9. 16567/5

3

1. 37(2ah + h*)*? 13. [, 2m(m/2 - x)(cos™x — 1) dx
5. (a) 27/15  (b) 7/6 © 8w/15
17. (a) 038 (b) 0.87
19. Solid obtained by rotating the region 0 < y < COS X,
0 < x < m/2 about the y-axis
21. Solid obtained by rotating the region 0 < x =<
0sy<2- sm \ about the x-axis
23. 36 25. T /3 m’ 27, 3.2.]
(a) 80007/3 = 8378 ft-lb  (b) 2.1ft 31, f(x)

A

PROBLEMS PLUS = PAGE 448

12

I (@) fi) =32 ® fx)= NI

5. (b) 02261 (c) O. 6736 m

(d) @ 1/(105~\ ~ 0.003 in/s (ii) 3707/3 s = 6.5 min

9 y= 3A

1. (@) V= W[f(\)] dy (c) f(\)=\kA/(~rC)v

Advamage the markings on the container are equally spaced.
3. b=2a 15. B = 16A

CHAPTER 7

EXERCISES 7.1 = PAGE 457

Li*hx—-5x*+C 3 Ly sin5x + s cos5x + C
5. 2(r—2)e’*+ C

APPENDIX | ANSWERS TO ODD-NUMBERED EXERCISES |||l A93

1 . 2
7. ——x? cos 7x + —5 x sin mx + ——5 COS 7X +C
? T’

9. J2x+ Nn@x+ 1) —x+C

I1. t arctan 4t — 3 In(1 + 16t%) + C

13. Lt tan 2t — zInfsec 2t[ + C

15. x(Inx)? — 2xInx + 2x + C

17. Se?(2sin36 — 3cos36) + C

19. 7—/% M. 1-1/e 23.3—-3In2 125 1—ie
27. (1—+6—3 /3) 29. sinx(Insinx — 1) + C

31, 2(In2)? - $In2 + 5
33. 2\/x51n\/x+7c05\x-rC 35. —3
37. 3(x 2 DIn(l+x - ix*+x+i+C
39. 2x + e+ C 7

-9

41, 1x2(1 + XY

(1+x)"4-C

43. (b) —3cosx SlnX+x’C“E51DQY+C

5. ® 3L, % 51 x(lnx)’ — 3x(n X+ 6xlnx — 6x+ C
§3. &£ - Be? 55 1.0475,2.8731; 21828  57. 4 —8/m
59. 2me  6l. 33 -—%  63.2- et + 2t +2)m
65. 2

EXERCISES 7.2 = PAGE 465

I Leos’x —jcos’x + C 3. -3

5. . 5 sin’(mx) — & sins(r\) == sin’(mx) + C
3w 5 T

7. m/4 9. 37/8 Il. 20 + 2sin@ + 1sin20 + C

13. 7/16 15. 4<\/smoz(lh — 18 sin*a + 15sin‘a) +

17. Lcosx — Infcosx| + C 19. ln\smxl+’smr+C

21. ftan’x + C 23. tanx—x+ C

25. itan’t + 2tan’t + tant + C 27. ¢

29, Lsec’x —secx + C

31, §sec'x — tan’x + In|secx| + C

33. (,tanﬂ‘*-tan(?—L Cc

35. xsecx — In|secx + tanx| + C 37. V3 — 37

39, lescla —sesc’a+ € AL In|cscx = cotx| + C

43. —%,cos3x—2‘7,c0§l3x C 45 lsin46 — 3sin66 + C

47. bsin2x+ C 49, jtan’(r’ N+ C



A9%4 1 APPENDIX | ANSWERS TO ODD-NUMBERED EXERCISES

51. ix? — isin(x?) cos(x*) + C  53. Lsin3x — fysin9x + C . =2 3 — 8
37. 14/2 tan™! — | + = 2k
,‘7 ? . W2 4(x* —4x + 6)
f | Vx+1-1]|
& QM \ : 39, In | ———| + C
. \ Uy, , | vx+ 1+ 1]
/i | A 2+m2 43S+ DL HC
/ ‘ 45 2z +3¥x+6Yx+6m|Yx—1[+C ]
= -1 (e* + 2 2
) —n 47. In e—l—‘)‘ + C
55. 0  57. 1 59.0 6l 7w¥/4  63. w(2y2 —3) e"+ 1
65. s = (1 — cos’wr)/(Bw) 49. In|tant + 1| — In |tant + 2|+ C
. R _ [2x-1
EXERCISES 7.3 + PAGE 472 51. (x —3)In(x* —x +2) — 2x + /7 1an ‘( 7 ) +C
TR ” [p— v
L Jx2=9/(9x) + C 3. 3(x*—18)yx?+9+C 5§3. —3In3 = —0.55
/24 + /3/8 — + —/25 — x2 ; ,
5. 7/24 + /3/8 ¥ f & \«-DI x/(25).)+lC 55, 11 ‘x—]“ C _—e ‘2[311()6/2)— 1] -
9. (Vi F 16 +x) + C_ 1L isin™'(2x) +3xy1 —4x*+ C "2 ““ | “ 3o an(x/2) +2 |

13. tsec'(x/3) — vx? — 9/(2x) + C

il —— 61.4In+2 63 —1+%5In2
I5. xma* 1. Yx2-T7+C

65. t = —In P — 1 In(0.9P + 900) + C, where C = 10.23

19. In | (v1 +x2 — x| +VT+a2+C 2. w7 54156 1 668 1 0438 |
i 2 sin~((x = 2)/3) + 3(x — 2)v/ ¢ — x° 67 a) = - - — -
| 2. Jsin~!((x — 2/3) +3(x = DYSF dx—wt c 71870 Sx+2 323 2x+1 80,155 3x —7
i 28 Jxtdxtl— 511‘1(\:}3 +x+1+x+3)+C | 22.098x + 48,935
: 2. lx+ DY+ 2x —tlfx+ 1+ +2x [+ C 260015 g ar—
’_ 29. }sin"(.xl) + _lz,r:\/’;l =xt+C ‘ ’, 2 -’ . i 334 3146
i 33, }(48 —sec'7)  37.0.81,2;2.10 () Jeog In|Sx + 2| = 55 In|2x + 1| = goqes l3x =71+
41. r\'R: -rz+ 77!‘:/2 - Rlarcsin(r/R) 43. 27T:Rr: 11.049 75.772 ;’X' % 1
Wln(f +x+5)+ o 0’ it tan™' — gt C
EXERCISES 7.4 = PAGE 48| SUREES 2005 Y
; A B A B c The CAS omits the absolute value signs and the constant of
i . (@) —— + by — + + — integration.
7 x+3 3x+1 X x+ 1 (x+ 1)
| Aol & IEYE EXERCISES 7.5 = PAGE 488
| X x° x’ x“+4 . , 13
{ A B c D l. sinx + 3sin’x + C
(b) );_3+( +3):+ —= t G 3. sinx + In|cscx — cotx| + C
, o & * il 5.4-1n9 T.e"—e™
5. (@ 1+ A + £ +CfTD 9.:%’11n3—¥ II.%1n(,\'3—4x+5)*‘lan"(x—2)-rC
: S &+ 13. cos® — L cos®® + C (or }sin*d — 3sin°6 + Lsin®6 + C)
i' A['*'BJ‘Ct‘i-D Et+ F - 8 6 3 3 8 ;
i P+1  £2+4  (F+4) 5. x/V1-x*+C
! 7.x+6lnjx—6|+C 17. ﬁx:—%xsin,rcosx'fﬁsinzxﬁ-C
; 9.2ln|x+5|-mW|x-2[+C 1. 3ln3 (or;‘xz—éxsinzx—gcosz_\-+C)
i 13.aln|x—b|+C 15 5+1n3 19. e +C 21 (x+ DarctanvVx —Vx + C
| 27 g - -
i 17. ZIn2 — 3n 3 (orIn3) 23,97 25 3x+Z2In|x—4[-3l[x+2|+C
! 19. —Lln\.r+5\+L;_+Lln\.t—1\+C 2. x-ln(1+e)+C 29.15+7hn]
| 36 6x+5 36 31 sinx — /1 =22+ C
1 21. ix? = 2In(x* + 4) + 2tan”'(x/2) + C x+ 1 x+1 —mm——
s I i /2 — = X3 =
) 23. 2In|x| + (1/x) +3In|x + 2| + C i S SN B R C
: 25. Inlx—1]—§ln(x2+9)—§tan"(x/3)+C 35.0 37. 7/8 — 3 39. In|secf — 1| — In|secf| + C
{ ) — 1 g2 \ 2 x\3/2
: 27. Lin(x? + 1) + (1/v/2) tan™'(x/v2) + C 4%, 9tlan6—56 —ln|secf| +C 43 L+ e+ e
- | 45, —i(x*+ e + C
,E 29.%1n(x3+2x+5)f%zan'l(x: )*C 47 In|x—1|-3x-D"=3-D?-3G-D7+C
i ) } 2% + 1 Jax+1-1] | /AT + 1+ 1]
3. 51 x—1]—tln(x*+x+ 1) ——t ! = + 49, In|——| + C 51, —-In|—m——| +
n | x | —gIn(x* +x + \Gan 7 (o5 n‘\/4x+1+1‘\ n‘ > | C
8 i . 1 : 1 . 2 2
33. HD‘, 35. ﬁ In|x| —mhx"+4)+ 57 & 53. —x? cosh(mx) — — x sinh(mx) + —5 cosh(mx) + C
8(x* + 4) m m* m’




